BE4B=F1HE~ (1-1) k%
FEHT

S23k 10000 LLPYHTHL

B . BEH

SEIEAE A R NS T

P S
1 i 3HEAE
REJJIEIR

N-2-01 fE&R ~ 55 ~ ¥ ~ 55 10000 DANEYEL > EEBHE AV » W E B ARE -

SEEE

O©jddf 1+ 585% 10000 DAAHYEL
1-1IEBEINT ~ 1 ~ -+ —HYEEUES) - 3k 10000 LAHYEGEI A -

R

FEWENT > H > A+ —HYBEUSE) > 52k 10000 LLRYEEE A -

AL
T - BRI
PR

O©j&E®E) 1 585k 10000 SAHTEL
@45 BRI T -
@55 I IERERYE 2K
OFEHSEE - WE N IEMEEEE
@FE 0 Il e HH R 2K

HELEENEG

RN E KB T R ] AFE TR

@ L5RAl BEIA LU MERTTEENRA - iem R ES TR | 5 |@WERIX
FLR R RIS (33 R B AR B TT RS HIEIE o SAEA L
55 BRI > PSRBT [l - AIE RS B B
AYRRHLIEL -

@1 5 S E BRI LR THVEH - 2] LIARIE 4G T 57
HARE - EE R -

&Sy 1] 225 10000 LLNAYEL
OEBRENITHVEECES) > 385K 10000 PLAAYEL

O | KD #1009 10 M Ao ?| s |@rimmans
AT SIS - 25 - 40 O




@100 ~ 200 ~ 300 ~ 400-+++--1000 {E @ - ZEF> 1 {& )
@10 fEE 2 1000 » 3£ 1000 {#e -

OifE — 1 2 (B FHEY R Ee ? WA o A -

o SAEESTAHET > SR 4012 1 ’
G L

o 2000 {E# & - ZCPE 2000 5

A% 1{E s FRE(ES 2 S 1 (HEE

o SAETAHETER - 283 o 401 2000 {E® > FHZ 1 {H P %1000
{E® - 345 3000 {E#e > ZL1F 3000, - 3EE " =T 3000 (& - FF

% 1 1 Vo 2251000 {Ee - 2 4000 {Ee 0 E2/E T 4000 |

SEE T IUF - 4000 {EE - F52% 1 {E g
A 5000 f&#& » ZLAF T5000, 0 FE(E T AT

+1000

' &% 1000 {Eo - 4

+1000 +1000

2000 [\ | [4600]/ [5500](@)
o {iR_EHURT RN 1000 B9 T - EEEF] 9000 HYEL -

@i = 9 ARREE SR  FNARE(ES ?
* 9 i 1 » 510 i PO FOA 10000

{#e » Z22/F T10000 ;- 58F " —& -

9000 C‘_,:'(ﬂz])
o ZLAMEREH © 10 {EF2 10000 > FE{E—& -
OFEWEMA ~ + ~ —HYEE) - 28a% 3000 LA BEGE 51
@ | FRERFIAZ/AMABEEE - E4&E 1008 & > A 1 3t

10

10




MY ? SLECE 0 EHEE

o S ITAHETRR - 2% - W11 1008 25 0 A 1A 0 g 1009 2 0 &
fE 71009, 3EfF ' —TZJL,e

o HE 1 HER O FIE 1 SR

o SR AHET AR ~ SR - 40 ¢
1009 & » fEE 125 - 538 1010 25 - Z2fF 1010, 38(F " — T —

T

1010 25 » F5E 145 - H3E 1011 25 - B0 1011, 3fF T —T&—
e

1011 2 > FE 1 2 > 5k 1012 45 > 50F T1012, 0 38fF " — T —
T+ e

IOOE? (1o10) \"|0||§ -"&mz"-(ﬂ

o (K FAUAR BN 1 AVARRE T - 823 3000 AAAYEL -
o ELAESE 1090 25 » B 10 35 » dh 4625 2 B 10 SR -+
o SAEITAHE R ~ R o A0
CUEE 1090 25 FERE 10 25 » 238 1100 25 » 52E 1100, > 5E(F " —

T—HJe
1100 25 > F3E 10 25 > H5E 1110 25 > &8fE T1110 > S T —F—
Bt
1110 5 > F3E 105 > H5E 1120 55 > S0fE T1120 0 SfE T —F—
H_+ e

e e e
1090 (100) (o) (1120) ()

o {i¢_ LHUARI BN 10 By RE =0 5 -H I 2 H AR 3000 LA
aﬁ%&
LA 1900 25 - FE 100 2 > L4825 2 FE 100 g
. Ea SraHETER - 23 o U
ELAETE 1900 25 » FE 100 25 > 37 2000 25 - 524E 72000 0 3ELE
It SR
2000 25 - A 100 2 » 4258 2100 & > 204F 72100 0 EIE " —T—
H e
2100 25 » A 100 2 » 4258 2200 5 » 284F 72200 0 sB(E " —T—
H e

(1900 }+ 2000 2100 } 2200 ) ()

o (% FHIUZEZ BN 100 AYFFRE TR, ZH 3000 DARAYEL -
@7t/ NE T TNE—{EZ 1005 VL ? BREE -

@ = ERM




—FH
—FEH
—TBEH

o GAE SV H  RRENET o 40 ¢ 1005 RUREER T —TEH -
T

—TH%EL

~F— AR/ 6 Fi~

W

SHEER | @i = EREET T




